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DO NOT USE A CALCULATOR FOR THIS EXERCISE
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Express each of the following in index notation.

a J;c_ b i/-S_
1
g as h '2—3'

4

e Ji f 81
l(/Li—g- 1 315%

1 s
¢ a*xat
f‘m7—:-m

41
i y3+ys
1 3x4><8x%
0o 2x*x5xx3x?

¢ 278 a9 e
-1 _5

i 64° j 9° k

o @) p @ 4

u (—8)% v (12%)'% w

¢ % a (o) e

i = 5 Wk

(3ab?’ x 2a°b)

50 £ 8
G @
()t r (@)
eot x ()7
7o)
5 b3 __}_
B -

Express each of the following in the form 2”, where y is a function of x.
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Simplify
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7 Rationalise each denominator and simplify
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8 Solve each equation.
a 3¥1=9 b 16¥=4" ¢ =36 |
d §l=4 e 64%=16"" £ g7=9""
9 Express each of the following as simply as possible with a rational denominator.
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